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General brstruc1/011s to Candidates: 

Time : 2 Hours 
Cool-off time : IS Minutes 

• There is a ·Cool-off time' of 15 minutes in addition to the writing time.
• Use the ·Cool-off time· to get familiar with questions and to pl:in your answers.
• Read questions carefully before answering.
• Read the instructions cnrefully.
• Calculntions. figures and graphs should be shown in the answer sheet itself.
• Malayalam version of the questions is also provided.
• Give equations wherever nc..-cessary.
• Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.

nJ1o;:xSaw1dMIJ.o,;,JgJ 0vni;m1f'SalJ(MIJIJ(/3 

• ml@��� 15 ailmlg" ·.a.� mnooos,' �,SQJo.

• •.a,ius oon.0 6l6l5o' cwoo�� n.101,.iCXll�=Jo � �m>J(U)6TT)o
6b..J'!lj0(1')lo fl,vooro<rildlGlldl>, 

• � n0)'9J@l(lll®1tn 01mr cwoo1� �im<)lo ruoaill436l5Tllo.

• ml�0�2'1.lmJo��ru:>1Dl�.

• .a..rn.s.i' •:iei1.a.u3, .o..11�, t(J)O<U)�. nG)<mlru ��1<1l8 GOO(T'I)

�<llllcal.e6l6mo.

• CW:>lll�� 0e.JCXll0�11?.1Jo O'J!i!laill�=�

• <1Jl¥l!Cl?llilllf!D truC!ellllm Cl\l0(1J:)db1Em<JS �i-no-
• a(ru0(.U)OOIJ.a.u3 6h.l<JIP� �.l(leig<>l� '3'116loMll]f!!! Q(l)j

i12e.J<lbC($0mfl.e;' �db<l>61110JJo ru<l!Jd!B10nOOt}1<1l8 lln,JCaro<.ll1.00lO.IOOO n.J:>S1Rj,

SY25 P.T.O. 

https://byjus.com/?utm_source=pdf+click


Answer aU questionJ from I to 7. Each carries 1 scorr. 

I. The monomeric unit of natural rubber is __ _

2. The weakest reducing agent among the hydrides of group 15 elements is ____ .

3. The reaction in which an amide is converted into a primary amine by the action of Br2

4. 

5. 

and alcoholic NaOH is kno"n as __ _

,_ 

MnO; and ___ are formed by the disproponionation of MnO 4 in acidic 

medium. 

In a solution of components 'A' and ·a·. 111 molecular le,el, A - B interactions are 
weaker than those between A - A or B - 8 interactions. Then the type of de,·iation 
shown by this solution is called ___ . 

6. Identify the co-ordination compound which can exhibit linkage isomerism, among the
following:

(a) (Pt(NH3)2C/2]

(b) (Co{Ntl3\(S04)]8r

(c) [Co(NH3),(NOz)JCJ2
r,.,' 

He 

(d) [Cr(NH3)6J[CoF6]

7. For the reaction, 2NOl&l + 02(g)--+ 2N02111• the rate law is given as,

Rate = k[N0)2 (02]. The order of the reaction "itb respoct to 0
2 

is----'
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I 111;ma.3 7 oi�� �lif> CW:>Gl�lo �"'1m1a.. 1 a� ollmo. 
(7 x I• 7) 

15-� lU>�· 2lll2ldhQIO�QS 6l�CUXl.l)ldl.@1l1!8 n2gruJG 13�"ljeJ00<ll> oilaoo9b'1.a,o01

---�

, 3. 

I 4. 

I 
� -

r.m11.10:)(.1.)¥,llmmlroS MnO 4 (W1CJOOt.-..1o�cmn,;ml <l.11CW<ll>00dl,jO� MnO 4 �

---� f?Jitl.OOJOT>J· 

I 5. ·A.. · B. na)<Tn10J<n)6>S 12:t:><ll,<P1<ll>1c:i5, =o,�EJo-ml<l!S, A - B «n<1210�rnDCll
mie,� /\ - A. B - B .ruei�c� O�eJ!IJOQl). -�a,5 @'?>

elO<ll>oil (.-.Jdl.sl';l;/J.OOJOT> OJ��6la!m ___ nQ)(TllJ n/1@1«JQOo.

I 6.

oJ)nJQS m�1�01<ll>l<l!S ella(D,ei 6)nQ)amJ06>2ld1(11)o t.-,Jdl,!¾jl.96)J(TT> �cruoacirom.e.
(T\)o('Q/)dlQ!lo (a.&,:>630�CCTlniJo3 (T\)c,('ll)�) <>J)6)(lJ)6)(llWJmjdl.;

(a) (Pt(NH3\ C/2]

(b) [Co(Nll3)5lS04))Br

(C) (Co(NH3\(N02)JC/2

(d) [Cr(Nll3)6J[CoF6)

7. 2N0lg) + Oz(g) - 2N0i(g) nQ)(Tl) <l>C;CTll(_.-,JO.J<.$anmmamll1� mbe6i Ol1<ll>21o,

�- = k[N0}2[02J ...g)(ll)0"1'i. @'?> �ooA QOOn.u<.$ n(j)(TTl(!S>
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Answer any ten questions from 8 to 20. Each urries 2 scores. 

8. Write the chemical equation representing Reimer-Tiemann reaction.

9. What is reverse osmosis? Write any one of its applications.

10. Identify the products and give the nan1e of the following reaction:

0-" cone. NaOH 
_ \ CHO ---

6
---+ Products 

11. Explain Halofonn reaction.

12. What is meant by step growth polymerisation ? Gi"e an example.

(10 X 2 = 20) 

13. An element crystallizes in F.C.C. manner. What is the length of a side of the unit cell, if

the atomic radius of the element is 0.144 mn '.'

14. Draw the structure of H3PO2 and account for its reducing character. � 

15. 2-Bromobutane is optically active. Explain the stereo-chemical aspect of SN t reaction

of2-Bromobutane with OH- ions.
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8 <Bl� 20 ru-- CWOBl""1� � .. 10 � �1.a.. 

2 C<IJ.XXO oJl®o. (10 X 2 � 20) 

9. n4>rnnomi olOOJ\ro\J 6lO<nlc121omllm.> ? @ctrilooA nai=e,11:.1i,, MJ �(l(!rou51.e, �aaro<Jlo

ngJ'l'tll'l!.a..

I 0. o.llOJ6lS �(ll51«>1dl6lim> «>:>crutn.srumamr,mams,16leJ fl�cmQSO� n4l6!<1006l.006l(!l)(T1)Jo, 

000\l(nJOJ�ooA 0nJ6lQOOMl)l<' ng)�J.O. 

0-,, cone. NaOH 
_ \ CHO 

6 
fl�� 

12. � C{(/X)(11ra)- CW0@16)0� <>J)O"O(IS)��� ? ol(l)J

flll:>n1)©6TTlo <T>�Jdb.

13. Ol>l 0iei.a.o F.C.C. allankwla,8 (<Oil�<9,01A�lffi>l· gr?> aiie,�� �21.a.
�«>o 0.144 nm �<IV:>roS, (ll130)16lCW <IVJm>1g' 6'1CI\J�6'1CW MJ ru�ooA <Tllflo �?

14. H3P02 �J6l5 ftQJS(T) OJ«>lf ClllcKl!il61CR m1�11l � ml=
'8,0(l)6TT)o OJ �&)@121:).00Jdl,.

15. oon.1gldl6><ll8 �ru<m OOf! &!<DJ <Tllo<ll)� 2-<:tmio=6Jll �6l§(llX'lil. §l2'?>

O'llo(ll)�Jo, OH-<tmQ<I!)O&mJlll:><IV� SNI (f,Jrum=<T><lffllilMA gill«>1oo:»o6'1.9,Qll.eooiil
� �dl6lJ<9>.
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16. Briefly explain the different types of emulsions and give example for each .

17. Give the structural formula and IUPAC name of the product fom1cd by the reaction ofpropanone with CH
3
Mg8r in dry ether. followed by hydrolysis.

I 8. Examine the graph given below. Identify the integrated rate equation and !be order of the reaction corresponding to it. 

0---T-i -..,.-----x 

t 19. 

How is a primary amine distinguished from a secondary amine using a chemical tesi? 

120. Predict the products obtained by the reaction of 2-methoxy-2-methylpropane "ith HI.

21. 

22. 

1 

r, 

Answer any seven questions from,21 to 29. Each carries 3 scores. 

Explain the terms. ZcUI potential. electro-phoresis and electro-osmosis. c.;, 

Toe rate constant of a reaction at 293 K is 1.7 x 1oS s-1
• When the 1emper:11ure is 

increased by 20 K. the rate constant is increased to 2.57 x 106 s-1
• Calculate E

1 
and A 

of the reaction. 
SV2S 6
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16. nJlnJlw <lll<l>o n(J)l2l�mJdl>�g1 <>.JJ<l>ldl6l1 nJlOJ<l>1cil6lJdl>. 630COO<TTJ1ml<3 !2(30nn<Z>61Tlo

ffilJi!jdl>.

17. C{n.JO�omosm �(® @"!l©�<l>o.Cilm �'llLOm aiow�aim1ro8 CH
3
MgBr n©<m

(l\)o(D)Jdlml0Jj0:Xllll (/,.JOJm=1..JOCR><"\tlo, tleJ OJ1�nSJ�(l) OJ100)(!))00<fl>JO<ruou'o

ei:;:1.a.,JmJ @�CTTJ<1lrn)16lCW �Sm<!uJo fu'P AC moaiOJJo m�J.a,.

18. <>.JJOJ6lS rua,�� ((l)On.O n.J<t>1aooow12" maan (n.JelS}Jmlwomo 6l.o.J(!ll!CTTJ OWlOdbeJl@

oil<l)cil6)j mxllOJO.S,lo (@CWCluigru> oil<t>dl6lJ ((1)12)0J0dl,lo) �6l@(TT)Jo, «ml®mJ<TU<b1dl6lJ<TTJ
<t>O((l)(n.JOJ<OOl1m(1}©1Gl1� 6lomcu>m n©l®6XDXTOJo ng)�@J.a,.

19. 6l6l(n.Jl2l01 �ra, 6)((1)cil6)ewo1 maa!'irn "ij)(TlilOJOOl> 6l<t>j (l):)((I) n.J<l>10000(l).(l)cnileJ26ls
ng)6ro6lm crum®1<l>12101QlXlo ?

20. 2-01c=.S:cru1-2-a!l6l6l@ro86lln.J06l.;!.jWo5, HI ®(2):)l(ll)(Q)J00<llll rs,.JClS)i(n..10Jmmml.a.,J<l<TlJ:WJ­
ITT10.a,JCTlJ @�CTTJ61lllUil (n.Jru...Jldl6lJ.S,.

21 a,� 29 OJ6)(t)(D)� 0"-'00l61lllfl'kuS n,fi.imeaeJJo 7 �lm !?�®Jdb,
3 O<!J?:>© aJl@o. (7 X 3; 21) 

21. m.llgo 6ln.JO��lro8, illeJdhC(S0-0<\000((1)1mJ, mei.S:c(.S0•6lOmic0ocrolmi' "ij)(Tlilru
OJ1CR>l3210cil6)jdl,.

22. 293 K =n..1mleiw1<1l8 mi (l)O((l)(n.JOJ�� oil<l>dl6l <rudlooemmilooR

12ljeJl'3 1.7 x 105 s-1 <m¥,j<TTJJ. @on.JoileJ 20 K OJ'3tlll1\\:11dl6lJOffiJOW oila,.a.,· cruolooe.o

2.57 x l Cl6 s-1 nQ)<m 0jeJ�=�JmJHl}'1l (l)()((l)(�ooR E,, A nmcnilOJ , . . 
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23. Identify A.B and C in the following sequence of reactions:
C 

24. Briefly explain different types of neurologically active drugs and give example for eachtype.

I 25. Write any three applications of cl- and f-block elements.

26. Give the open chain and ring structures of glucose and account for the existence of glucose in two anomeric forms.
27. A 5% solution (by mass) of cane sugar (C

12H22011
) in water has a freezing point of271 K. Calculate the freezing point of 5% (by mass) solution of glucose (C

6
H120J inwater. Freezing point of pure water is 273.15 K.

28. Explain the steps involved in the vapour phase refining of Ni and Zr.
129. What are interhalogcn compounds O Which inJcrhalogen compound is used to fluorinateUranium ? How is it prepared ?
I SY25 8 
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H3O+ B Br2/red P C
tJ. 

24. cooC\J.ll ru,11nnru10� tn.JM�JO'Tl ru1ru1w - Ql(l)J(!ll�gl AJJ(O� ru1ru<61.oo�.
6loocoo all@o�m10 �(3:)n{)<D61'T)o m!i/lch-

25. d- O.!Jf>dlGl� f 061lpdl6l• 0leJdJ>6m�J6lS "iJl6lt11lll);)eJJo 0lffi') (n.JO<l('Q)OVl1.a. ��
--©"'l®Jcb.

26. �orn.i' =ot=lolS m�mS 6lAJ(llJlro, rue.ia» neis� ruCDWIJ.e., �=mi 1/)mJ
�omoo10o1ce," ll)ln.J.rofjl<US crilrumlroS.ooJOTI=1=616remi aJlUl)(JQl:>d!6lJdb.

27. 5% (by mass) Mlcru1ro _n.JmlJm>:><b (C
12H22O1

1) eae.i(1ffll)J<US eiavl� ei0<1»mla»16lS 
6l.l(l)0e., 271 K � "'1)19,l<US 5% (by mass) 1,0j0<fl610mi (C6H 12OJ eaei� 
eiml½ll cb,wn eJOa»Oilci:»j6lS QJ0019,o ��- Clllp.ome.taimlooA SU<lXl19,o 273.15 

KQ1¥>JOlll· 

28. Ni. Zr �rua»}')S �mei ��61CB o.lkulw -� all<Ml­
.e,(DlclSI;@. 

29. "l1)(llll(>61T �emm3 <ruo«»i� ? ci:»l()O<Dl� '\(lldlomg 6W� 

i!n.JOOlXX/lldl6l� �E!Jll'loS truoQl)� �? ammi nQ)(� m1&rllldlQOo?

SY25 9 P.T.O. 

https://byjus.com/?utm_source=pdf+click


An.s,,·u any three questions from 30 to 33. Each carries 4 scons. (3 x 4 = 12) 

30. How can the following conversions be effec1cd ?

(i) Ethanol----+ Fluoroethane

(ii) But-I-enc--+ But-2-cne

31. Diagrammatically represent 112 - O? fuel cell and write lhe half cell reactions taking

place in this cell.

32. What are point defects ? Explain !he non-stoichiometric point dcftctS in ionic Cl'), stals.

33. (i) With the help of a diagram. give the spliuing of d-orbitals of Mn2• ion in an 

(2) 

(2) 

ocuihedral Cl'),-stal field. (Z) 

(ii) On the basis of Cf)Slal field 1heory. �xpbin "h� (Mn(H
1
0)i+ contnil1$ five

unpaired electrons "hile [111n(CN)6t- contains onl� one unpaired electron. (2) 

I 
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I 
I 
I 

JO 0� 33 OJi)Cll(Dlf!:! c,.JO()llill13tilai8 �M">&MeJto 3 �<mmlm �"'lffilca,. 

4 OC1J.OO oJlmo. (J X 4 • 12) 

0. .o.ll(l-Ja5 � � nQ)61!1}M)mxx.o�.6lQJ(TT}�l4'>?

I 
31. 

In. 

133. 

(i) �aoo�.- ���

(ii) ffill!§•I-�.- 61U)k2·fil'DOO

H2 - 02 nD,ll(llroS 6XTU{U16l<1'l l"-'�oilull.Ml.OOl(TT) � �- � � ms.96>J<m 

�Q.O 6Kl\lroS (l)O(T\,'l,"10.J\5� n4)'fj<11>J,&,. 

·� cull��- n4)Cl'Tl06'lel<Tm'? � �� dlio.-.p.Kl)J<Tl) �

o�=o1�.a; ( 00CT\XTWl01mll(Xl)121��> <l<'\JO(lJ.�qf <Ul1"°'1/� �1'8>·

(i) � <,&Jg)IGIS nrllroS<WlroS, 1v1n2• �00ll06Tll1� d-oooo,J1gei2�2-

(2) 

(2) 

�.a.ion � 001�=1� � OJ�00clQ2.a.. (2) 

(ii) [MnOiiO)t,)2+a,3 =ru.il(Xl)fijOCllrn � §!2�mll�� nQ)(TllO<ll8

(Mn(CN>l· � � 6»1 � �"' flf!!ll. �� -

� n&i.5rui mJI�� � �dl6lt9>. (2)
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